Текст 5
[bookmark: _GoBack]Установите соответствие между текстами A–E и их темами, выбрав тему 1–6 из списка. Используйте каждую тему только один раз. В задании одна тема лишняя.  
This text deals with …

1. Computer virus.
2. Game addiction.
3. A crime.
4. An important message.
5. Punishment.
6. Using neighbours’ wi-fi.
 
A. A Singapore teenager who used his neighbours’ wi-fi Internet network will not be able to use the Internet for the next 12 months. The message for wi-fi users is clear: if it isn’t yours, don’t use it.
B. Seventeen-year-old Tan Luo was an online-game fan and played games at all hours of the day. He didn’t have time to study and wasn’t able to complete his course at the college. In the end, his parents were very worried and they disconnected their Internet access so Tan couldn’t go online.
C. However, this didn’t stop him. He knew his neighbours had Internet access, so he used theirs. He was able to connect to their wireless Internet network, or ‘wi-fi’, and continued playing online games from his own home.
D. The neighbours noticed Tan was using their wi-fi one night. They told him to stop, but he didn’t, and so they called the police. In Singapore it’s a crime to use a wi-fi network that isn’t yours. So, the young wi-fi thief had to go to court.
E. In court, Tan said he was very sorry. The judge didn’t sent him to prison. Instead, he sent Tan to a boys’ hostel for nine months. At the hostel, he will do sports and other activities, but he won’t be allowed to play video games. Furthermore, he won’t be able to use the Internet for the next year.
 
Запишите в таблицу выбранные цифры под соответствующими буквами.
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Ответ Текст 5
A — 4: The message for wi-fi users is clear: if it isn’t yours, don’t use it.
B — 2: He was an online-game fan and played games at all hours of the day.
C — 6: He knew his neighbours had Internet access, so he used theirs
D — 3: In Singapore it’s a crime to use a wi-fi network that isn’t yours.
E — 5: Instead, he sent Tan to a boys’ hostel for nine months.
 
Ответ: 42635.

